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PART – A 

1. Write the equation of Photosynthesis. 1M 

2. Define resistivity of material. 1M 

3. What is the power of torch bulb rated at 2.5V and 500mA? 1M 

4. Why is series arrangement not used for connecting domestic electrical appliances 

in a circuit? 1M 

5. Write an example of decomposition reaction. 1M 

6. What is meant by thermal decomposition? 1M 

7. Name the chemical reaction in which heat is absorbed. 1M 

PART – B 

8. Define “stomata”.  Mention any two functions. 2M 

9. Draw a neat labelled diagram showing various stages in the nutrition of Amoeba. 2M 

10. What is the role of the following chemicals in the Photosynthesis experiment? 2M 

a) Ethyl Alchohol or Ethanol 

b) Iodine 

11. Name the type of chemical reactions taking place when:- 

 (i) Lime stone is heated. 

 (ii) Magnesium ribbon is burnt in air. 

 (iii) Iron nails are dipped in Copper Sulphate solution. 

 (iv) Burning of coal. 

12. Draw the following symbols: 

(i) Battery (ii) Switch closed (iii) Resistor of resistance R (iv) Voltmeter 2M 

13. What is the difference between short circuiting and overloading? 2M 

14. Translate the following statements into chemical equations and balance them :- 2M 

 (i) Sodium Chloride reacts with Silver Nitrate to give Sodium Nitrate and a 

precipitate of Silver Chloride. 

 (ii) Hydrogen gas combines with Nitrogen to form Ammonia. 

 (iii) Zinc Carbonate decomposes to give Zinc Oxide and Carbon Dioxide. 

 (iv) Ammonia gas reacts with water to give Ammonium Hydroxide. 

 (v) Copper (II) Oxide on heating with Hydrogen gas gives Copper and water 

 



 
PART – C 

15. How is opening and closing of stomata regulated? 3M 

16. a) Draw diagram showing three resistors R1, R2 and R3 in series. 3M 

 b) Two resistors of resistance 4W and 12W  

 i) In parallel  ii) In series   

 Calculate the values of effective resistance in each case. 

 

17.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 (a) What kind of infection is HPV. 1M 

 (b) Why is BIRAC looking for cost effective measures while making proposals to 

control HPV. 2M 

-:0:- 

of HPV infections. 


